Multiplicar Tres Polinomios (I)

DO

Ot

Simplifique cada expresion.

- (7p* — 6p°)(—3p” + 2p)(—2p” + 3p + 5)

(957 4 35)(95% 4 25)(—65> + 45> — 95)

(=5m? 4 3m?) (Tm — 7)(—=9m® — 2m* — 6m?)

(Tt — 8t)(9t + 8)(—61° + 8% — Tt)

(=56 — 7b%)(4b* + 8b%) (—8b* + 9b® + 9b?)
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Multiplicar Tres Polinomios (I) Respuestas

[}

w

Ot

Simplifique cada expresion.

(7p* — 6p°)(—3p” + 2p)(—2p” + 3p + 5)
= 42p° — 127p" + 15p° + 124p° — 60p*

(95 + 35)(95* + 25)(—65° + 45% — 95)
— —4865" + 545 — 5855° — 381s* — 5453

(=5m? 4 3m?)(Tm — 7)(=9m” — 2m* — 6m?)
= 315m° — 434m® + 287m" — 294m° + 126m°

(7% — 8t)(9t + 8)(—6t> + 8t — Tt)
— 3785 + 600t° — 185t* — 400t> + 448¢>

(=56 — 7b%)(4b* + 8b%) (—8b* + 9b + 9b?)
— 1600 + 364b'Y — 344 — 11160° — 5047
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